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Circle the letter of the best answer for questions 4
4. Asexual reproduction requires
C. only one parent.

A. two parents.
D. only one gamete.

B. two gametes.

5. Which of the following is an advantage of asexual reproduction?

A. it occurs really slowly
B. it allows the population to grow rapidly
C. it takes time for the offspring to mature before they can reproduce

D. it allows the parents to pass on 50% of their genetic material to their offs

B

6. A lack of genetic diversity from asexual reproduction means that
A. all the gametes are clones of each other.
B. all the offspring are genetically identical to each other.
C. the offspring di inheri i .
offspring did not inherit any genetic materials from the parents.

D. the population have individuals with different combinations of DNA
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